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′ X =
x

y

 
 
  

 

′
=

2xy

1− x2 + y2

 
 
  

 
= g(X)

Kritiska punkter:  
0

0

 
 
  

 
=

x

y

 
 
  

 

′
=

2xy

1 − x 2 + y 2

 
 
  

 
.

a) x = 0 ⇒1 + y 2 = 0  , Reell lösning saknas.

b) y = 0 ⇒ x = ±1 , ( x,y) = (±1,0)

′ g (X) =
2y 2x

−2x 2y

 
 
  

 



′ g (1,0) =
0 2

−2 0

 
 
  

 
  , = ±2i.

′ g (−1,0) =
0 −2

2 0

 
 
  

 
  , = ±2i.

Ingen slutsats kan dras.

Ingen slutsats kan dras.



Vi använder fasplanmetoden.

dy

dx
=

˙ y 
˙ x 

=
1− x2 + y2

2xy

2xy
dy

dx
= 1− x2 + y2

Sätt: z = y 2,  
dz

dx
= 2y

dy

dx

x
dz

dx
=1 − x 2 + z



dz

dx
−

1

x
z =

1

x
− x

1

x

dz

dx
−

1

x

1

x
z =

1

x
(
1

x
− x)

d

dx

1

x
z   
   

=
1

x2 −1

z

x
= −

1

x
− x + C

z = −1 − x2 + Cx



y 2 = −1 − x2 + Cx

x 2 − Cx + y2 = −1, C = 2a

(x − a)2 + y2 = a2 −1

Cirklar.


